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NEW QUESTION 1

You are asked to create a method that accepts an array of integers and returns the highest value from that array.
Given the code fragment:

class Test{
public static void main(String[] args) {
int ‘numbers[] = {12, 13, 42, 32, 15, ‘156, 23, 51, 12}
int[] keys = findMax (numbers) ;

/*¥ line nl */ {
int[] keys = new int[3];
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 2
Given the following main method:

public static void main(8tring[] args) {

int num = 5;
do

System.out. print (num-- +" ") ;
' while (num == 0);

}

What is the result?

A.543210
B.54321
C.421

D.5

E. Nothing is printed

Answer: D

NEW QUESTION 3
Given the code fragment:

public static woid main (String[] argsa) |
String[] arr = (“Hi”, “How", “Are”, “You");
List<String>» arrlist = new ArrayList<> (Arrays.asli=st (arr);
if (arrList.removeIf((String =) -» (return s.length()}) <= 2;})) {

System.out.println(s + “removed”)”’
}
What is the result?
A. Compilation fails.
B. Hi removed
C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.
Answer: A

NEW QUESTION 4
Given:
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public cla=ss Test |
public static voild main(String[] args) |
int = = 1;
int y = 0;
1f (xt++ > ++y) {
System.cut.print ({“Hellec “);
} =2lze |
System.out.print (“Welcome “);

}

System.out.print {("Log ™ + x + Y“:7 + v);

}

What is the result?

A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 5
Given the code fragment:

int = = 100;

int a = =++;
int b = ++x=:;
int o = =++;
int d = {a < kY 2 (a < <) 2 a: (b <c 17 b o x;

gvstem.out.println (d);

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 6
Given this code for a Planet object:
public class Planet (|
public String name;
public int moons;

public Planet (String name, int moons)

this.name = name:;
this.moons = moons;

And this method:

public static wold main(String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth", 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;
System.out.println(planets[2].name) ;

System.out.println(planets(2].moons) ;

}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 7
Given the code fragment:

public static void main(String[] args) {
int data[]l] = {2010, 2013, 2014, 2015, 2014:;
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {
continue;
count++;

¥
H
System.out.print (count + " Found");
1
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 8
Given:

The Leader of IT Certification visit - https://www.certleader.com



CertLeader® 100% Valid and Newest Version 1z0-808 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/1z0-808-dumps.html (156 Q&AS)

public class App |
int count:
public static void displayMsg () |
count++; // line nl

)

System.out.println ("Welcome "“+"Wisit Count: “+count); // line n2

public static void main (String [] args) {
App.displayMsg (): // line n3
App.displayMsg () : // line nd

What is the result?

A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 9
Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime

B. More efficient code at runtime

C. More dynamic code at runtime

D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 10
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D

NEW QUESTION 10
Given the code from the Greeting.Java file:

public class Greeting |
public static void mainiStringl[] args) |
System.out.println{"Hello " + args[0]1);

}

Which set of commands prints Hello Duke in the console?
&) javac Gresting

java Greeting Duke

~ B) javac Greeting.java Duke
java Greeting

~ Bl avad Bredting. java
java Greeting Duke

~ [0} javac Gresting. java
java Greeting.class Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 13
Given these two classes:
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public class Customer |

Electriciccount oct =inew BElectricicconnti):;

public void useElectricity (double kWh) {

acct . addEWh (kWh) ;

public class ElectrichAccount |
private doubkle kWh;
private doubkle rate = 0.07;
private double bill;

Fd1line nl
}

Any amount of electricity used by a customer (represented by an instance of the Customer class) must contribute to the customer's bill (represented by the

member variable bill) through the useElectricity method.

An instance of the Customer class should never be able to tamper with or decrease the value of the member variable bill.

How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always equal to the value of the member variable kwh

multiplied by the member variable rate?

A
public volid addEWhi(doubkle kWh) |
this.kWh += kWh;
this.bkill = this.kWh*this.rate;
H
B
public volid addEWhi(doubkle kWh) |
if (kWwh > 0)¢
thisz. kih += kith;
thi=.kill = thig.kWh * this.rate;
i
H
C
private volid addEWh (double kWh) |
if (kWh > 03 ¢
this=. kWh += kih;
thiz.kill = thiz.kWh*this. rate;
1
i
1]
public veoid addEWh{double kWh) |
if (kWwh > 07
thiz.kWh += kWh;
setBi1ll (this. kWh) ;
1
i
public void setBill (doubkle kiWh) |
Eill = kWh*rate;
i
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 14
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.

B. It can run on any platform that has a Java compiler.

C. It can run on any platform.

D. It has “.java” extension.

E. It can run on any platform that has the Java Runtime Environment.

Answer: AE
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NEW QUESTION 17
This grid shows the state of a 2D array:

0 0
0

X
The grid is created with this code:
char[][] grid = new char[3][3];
grid[1][1] = 'X’;
grid[0][0] = *0F;
grid[2][0] = ‘X’;
grid[0][1] = *0';
grid[2][2] = ‘X’;
grid[1l][Z] = *0*;
//line nl

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = X;
B. grid[3][2] = X;
C. grid[3][1] = X7
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 21
Given:
interface Readable |
public void readBook () ;
public void setBookMark() ;
h

abstract class Book implements Readable | /4 line nl
public veoid readBook () { }
Lk dne

)

class EBook extends Book | A iime g
public veoid readBook () { 1}
/4 line nd

}

And given the code fragment: Book book1 = new EBook(); bookl.readBook();
Which option enables the code to compile?

&) Replace the code fragment at line nl with:
class Book implements Readable |

© B) At line n2 insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with:
abstract class EBook extends Book |

) At line nd4 insert;
public wvoid setBookMarki() { 1}

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 25
Given:
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class Product
double price;

public class Test |

public wvoid updatePrice (Product product, double price)

price = price * 2;
product.price = product.price + price;

H
public static void main(String[] args) {

Product prt = new Product ();
prt.price = 200;
double newPrice = 100;

Test £t = new Test () ;
t.updatePrice (prt, newPrice) ;

System.out.println (prt.price + - + newPrice);

H

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 27
Given:

class H O
Static int H.:
ST s
public static wold main(Stringl[] args) |
Hoxl = new ()
X ®2 = new X();

wlopew= 33
#l.] = 4;
2.1 = 5;

HZ.] = 6B;
Svstem.out.println
®1.1 + " " +
T, 0 W R
®2.1 + " " 4+

A Z iy 1

'
What is the result?
A.3456
B.3436
C.5456
D.3646
Answer: C

NEW QUESTION 28
Given:
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class B
public wvoid test () {
System.out.println("& ");

class B extends A
public void test () {
System.out.println({"B ");

public class C extends A {
public void test () {
System.out.println{"C ");

public static woid main(String[] args) {

2 bl = new A{);
A b2 = new C{);
A b3 = (B} b2; //1line nl
Ll = (A) b2: //1line nZ2

bl.test ()
b3.test ()

¥
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 32
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 33
Given the code fragment:

public static void main(String[] args) |
LocalDate datse = LocallDate.of (2012, 01, 22);
date.plusbhays (10);
System.cut.println(date) ;

h

What is the result?

A. 2012-02-10

B. 2012-02-11

C. Compilation fails

D. A DateTimeException is thrown at runtime.
Answer: D

NEW QUESTION 38
Given:
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interface I |
public void displavyI():
}
abstract class C2 implements I {
public void displayC2() {
System.out.print ("C2") ;

}
class Cl extends C2 {

public void displayI() {
System.out.print ("Cl"};

}

And the code fragment:
C2 objl = new C1():
I obj2 = new Cl();

CZ2 s = (C2) obj2;
I t = objl;

t.displayI():
s.displayC2 () ;
What is the result?
A. Cl1C2
B.Cl1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:
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> lund x +

L SrG interface I {
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI() {
System.out.print("C1");

}
}

public class App (
public static void main(String[] args) {
C2 objl = new Cl();
I obj2 new Cl();

C2 s = (C2) obj2;
It = objl;

t.displayl();
s.displayC2();

Console 1 X Console 2 * Console 3 X x

C1C2
Completed with exit code: 0

NEW QUESTION 43
Given the code fragment:
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abstract clas=s Planet |
protected void revolwe () filine nl

}

ab=ztract wvold rotate () ; Jiline nZ

clazss Earth extends Planet |
vold revolwve () Jiline n3

}

protected void rotate () | Jiline nd
i
I

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 46
Given:

class Caller |
private void init () {
System.out.println(“Initialized”) ;

private void start () {
init () :
System.out.println (“Started”) ;

}

public class TestCall {
public static void main(Stringl] args) {
Caller o = new Caller{):
c.start(); // line nl
c.init () ; // line nZ2

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 51

Given this class:

public class CheckingBAccount {
public int amount;
//line nl

}

And given this main method, located in another class:

public static void main({String[] args} {
CheckingAccount acct = new CheckingRAccount () ;
//1line n2

r

Which three pieces of code, when inserted independently, set the value of amount to 1007?
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A
AL 1ine nl insert:
public CheckinglAccount () {
amount = 100;
¥
B
At 1ine nZ insert:
this.amount = 100;
L
AL 1ine nZ insert:
amount = 100;
1]
AL 1ine nl insert:
public Checkingzccount () {
this.amount = 100;
¥
E
At 1ine nZ insert:
acct.amount = 100;
F
Af 1ine nl insert:
public CheckingAccount () {
acct.amount = 100;
j;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F
Answer: DE

NEW QUESTION 55

Given the code fragment:

public static void main(String[] args) {
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.out.println(date);

H

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 57

Given the code fragment:

public static void main(8tring[] args) {
String myStr = "Hello World ";
myStr.trim();
int 1l = myStr.indexOf (™ ");
System.out.println{il);

}

What is the result?

A. An exception is thrown at runtime.
B.-1
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C.5
D. 10

Answer: A

NEW QUESTION 62
Given:

class Test |

public static wvoid

int number
numbers =
numbers |

[

L

numbers

numbers =

[

numbers |
numbers [3
for (int x

System.out.print

-

What is the result?

A. 10203040

B. 003040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 65

What is the name of the Java concept that uses access modifiers to protect variables and hide them within a class?

A. Encapsulation
B. Inheritance

C. Abstraction

D. Instantiation
E. Polymorphism

Answer: A

Explanation:

Using the private modifier is the main way that an object encapsulates itself and hide data from the outside world.

NEW QUESTION 70
Given:

public clas=ss Test |

int x, v;

public Testi{int x, int ¥)

initializs(x, ¥y

3

[

new

]
]

ne
]
]

Vi

=

W

main (String

]l

int

10

20

-

"
r

"
'

int

30

f

40 ;

{

numbers)

el

public void initialize(int =, int y) {

this.x = = * =;

thiz.y = y * y;

public static voilid main(String[] args)

int = = 3, ¥

Test cbj] = new Test (x,

Vi

System.cut.println{x + “ ™ + y);

}

What is the result?
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A. Compilation fails.
B.35

C.00

D.925

Answer: B

NEW QUESTION 74
Given:
public class Test |
public static vold main(Stringl] args) |
Test t3 = new Tesat();
System.out.print (isAvailable + ™ “);
izivaillakle= ts.doStuff () ;
System.out.println(ishvailable) ;
1
public static boolsan doStuff ()
return lisAvailakls;
1

static boolean i1sfvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 75

Given the code fragment:

public static wold main(Stringl[] args) |
StringBuilder =k = new StringBuilder ("Java™);
String = = "Java" ;

if (=zb.toString() .equals(s.toString()))
System.out.println("Match 17);
poelze 1f (gb.equalsi(=s)) |
System.out.println("Match 27) ;
Voelze
System.out.println("Noe Match™) ;

}

What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 76
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 80
Given:
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class Caller
private wvoid init ()
System.out.println(™“Initialized”);

private void start ()

init():
System.ocut.println (“Started”) ;
}
}
public class TestCall {
public static void main(String[] args)
Caller c — new Caller{):
c.start ()
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D

NEW QUESTION 81

Given this segment of code:
ArrayList<Cycle> myList = new ArravList<>();
myList.add(new MotorCyclel()):

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 83
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 88
Which three statements describe the object-oriented features of the Java language? (Choose three.)

A. Objects cannot be reused.

B. A subclass must override the methods from a superclass.
C. Objects can share behaviors with other objects.

D. A package must contain a main class.

E. Object is the root class of all other objects.

F. A main method must be declared in every class.

Answer: BCF

NEW QUESTION 91
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 92
Given the code fragment:

public static voild main{String[] args)

int[][] arr = new int [2] [4]:
arr[0] = new int []{1l, 3, 5, 7}:
arr[l] = new int []{1l, 3};
for (int[] = arr)

for {int 1 : a)

System.out.print (i+ ™ “);
}

System.out.printlni);

}

What is the result?

The Leader of IT Certification

visit - https://www.certleader.com



CertLeader:

Leader of IT Certifications

100% Valid and Newest Version 1z0-808 Questions & Answers shared by Certleader
https://www.certleader.com/1z0-808-dumps.html (156 Q&AS)

A Compilation fails.

B
1l 3
1 3
C
1 3
followed by an ArrayIndexOutOfBoundsException
1]
13
1 300
E
1 357
1 3
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: E
Explanation:
TOUr :_, B
i- 155 MyClass {
2~ public static void main (5tring [0 orgs) {
3 it [10] are =new int [2] [4];
4 arr[8] = new int [J {1, 3, 5, 7}
3 gre[1] = new int O {1, 3}
e for (int [0 a : are) {
7- for (int 1 : a) {
g Svstem,out.print(is * °);
9 b
18 System.out.println ();
12 ¥
153
14
nal Libraries O Add External Librory (f
Lonm re Argumernt
Tk § mod m
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NEW QUESTION 97

Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.
B. A public class must have a main method.
C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized

F. Methods and fields are optional components of a class.
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Answer: BDE

NEW QUESTION 101
Given:

public cla=zs Zpp |
public static void main(String[] args) {
int 1 = 10;
int 3 = Z0;
int k =(3 += 1}/ 5;
System.ocut.print{i + ™ : ™ + 5 4+ ™ M + Kk},

1
What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 102
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